
 » WEAR PARTS LIST
12/2018

STANDARD
 » 5391





 VETRON 5391 - WEAR PARTS 03

At the time of printing, all information and illustrations in this document were up to date. 
Technical changes, subject without prior notice!

 CAUTION! 
Please take note of, we will not be liable for spare parts and accessories, not 
purchased from us. These parts were neither examined by us, nor released. 
Consequently, the installation or use of these products can have a negative  
influence on design-related features of their machine.

We accept no liability for any damage caused by the use of non-original parts.

   INFO: 
This Wear Parts List shows the main parts from the machine. 
A detailed list for the complete machine is available on our website  
www.vetrontypical.com. 
Also can be ordered as a manual.

VE 5391 - WEAR PARTS 
GENERAL ADVICE



DIN 912 - M4x6 
nickel plated

DIN 912 - M4x10 
nickel plated

Needle- 
System 134-35

C144588201 (C) 
C144588301 (B) 

559 0296 16 
Tension Spring

13
4-3

5

9001-00416 (2x)9001-00416 (2x)

9004-00306 (2x)

9004-00306

559 3001 09

S150201003

559 3002 13

DIN 913 - M3x2,5

04 VETRON 5391 - WEAR PARTS

VE 5391 - WEAR PARTS



130.08.000

9004-00418

0000-00098 (3x)

0000-00102 (2x)

0000-00099

559 0274 10

DIN 84 M2x5

 VETRON 5391 - WEAR PARTS 05

VE 5391 - WEAR PARTS

Hans.Mangold
Notiz
VCA-02-133/4 SA Spulenkapsel

Diane.deDeus
Notiz
B5000020



VETRON TYPICAL EUROPE GmbH
Clara-Immerwahr-Str. 6   
67661 Kaiserslautern, Germany
Tel.: +49 6301 320 75-0 
Fax: +49 6301 320 75-11 

info@vetrontypical.com
www.vetrontypical.com


